Law of Sinel
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Sketch a triangle given the information. Then decide whether the given measurement can

form exactly one triangle, two or no triangle.
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3)A=18%a=16,c=10

P S S 51 C
A 7o 16 X7
o -
cC= 100
1CBR
/ Toiergle
5YC=160°¢=12,b=15
From the pretore
< ] YUU con p&,kﬁ“’f*_
LS X z « dviale
o A )
S}I\PGO‘._‘- ST_"_‘_?_
/t /15
LRz 7430 rt possible
7)B=56°,b=13,a=14
€ A ¥ M: 5__“_"__‘4
1 12 14
< 1% 1 f= 320
ol”
g 4"

i Tt aﬂﬁ!@é ’

2)A=140°,0a=5,¢c=7
2 o i ?:.rom \qu:q)i‘cdvfa
A Hob \.,(/U tn '['le
A il s nu f‘?‘?amj/e,l

g\v\“}Ob_ sl B
g T LLe)r

not poss?lo‘L
4)A=70°a=155,¢c=160
C_ £in70 _ sia £
< —
155 155 /€6
Al ” & 78]
o
A s i60 = 164.°

6)B=105°,b=11,0a=5

- S sin\OS_iﬂfl
165 g vos
lq A [b

Lﬁ: A

ol &4

8)C=25°¢c=6,b=20
e

A X0 Eﬁzfi Sﬁ
A Zo
% f’ nod Poss‘\\oh_!



